

Vendor Ranking	Page 1 of 1
Letting: 08211109 November 09, 2021 02:30 Call Order: 002 Contract: E8T53-R0 PM PM PM Contract: E8T53-R0	
District: Turnpike Counties: BROWARD, MIAMI-DADE, Fed Aid No: N/A	
Contract Time: 365 CALENDAR DAYS PALM BEACH, TURNPIKE Project(s): 43293317208	3 (*)
Contract Desc: MITIGATION MAINTENANCE - ZONE 1	

Rank	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid	
1	K&S SERVICES OF SOUTH FLORIDA,	Responsive	Winning bid	\$165,410.00	100.00% ^{IN}	TENT TO AWARD
2	AIRBOAT ADDICTS, INC.	Responsive	Non-Winning Bid	\$179,655.00	108.61%	
3	VISUALSCAPE INC.	Responsive	Non-Winning Bid	\$235,675.00	142.48%	

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: DECEMBER 7, 2021 4 PM



Tabulation of Bids							Page 1 of 4
Letting:	08211109	November 09, 2021	Call Order:	002	Contract:	E8T53-R0	
District:	Turnpike		Counties:	BROWARD, MIAMI-	Fed Aid No	: N/A	
Contract Time:	365 CALENE	DAR DAYS		DADE, PALM BEACH,	Project(s):	43293317208 (*)
Contract Descr	: MITIGATION	MAINTENANCE - ZONE 1		TURNPIKE			

The work specified in this contract consists of providing all labor, materials, equipment, and incidentals necessary to perform periodic and routine maintenance of mitigation areas, wetlands, and natural areas, which includes the eradication of nuisance plant species, and planting of herbaceous, shrub, and tree material at various locations along the Homestead Extension Florida's Turnpike, Milepost (MP) 0.0 to 46.5; Florida's Turnpike, MP 0.0X to 100.0; and Sawgrass Expressway, MP 0.0 to 22.5.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

The Contractor shall perform all work during day hours in accordance with the Turnpike Lane Closure Policy.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

The Contractor shall be required to submit to the Department documentary proof showing two (2) years of experience in working with Florida native and wetland plants and nuisance vegetation control. Please include the Project description, dates, and locations of successfully completed projects. Award of the contract will be contingent on the demonstrated experience, knowledge and quality of work.

Florida Department of Agriculture Commercial Applicator's license with the categories of licensure in Right-of-Way Pest Control, Natural Areas Weed Management and Aquatic Pest Control is required to bid for this contract. Please submit a copy of current certificates to the Department.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

Line No / Item ID Alternate (Item Description	Quantity Units	(1) K&S SERVIC FLOR		(2) AIRBOAT A	DDICTS, INC.	(3) VISUAL	SCAPE INC.
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (MIT			ICE (AC				
0005 0580 5 21 LANDSCAPE- TREES, DISTRICT SPECIFIED FROM PROJECT LIST, CONTAINER GROWN 7 GALLON	75.000 EA	47.00000	3,525.00	45.00000	3,375.00	110.00000	8,250.00
0010 0580 7 61 LANDSCAPE- SMALL SHRUB, DISTRICT SPECIFIED FROM PROJECT LIST, 1 GALLON	250.000 EA	6.00000	1,500.00	20.00000	5,000.00	25.00000	6,250.00



		Т	abulation of Bio	ds			Page 2 of 4
Letting: 08211109	November 09,	2021 Cal	l Order: 002		Contract:	E8T53-R0	
Line No / Item ID Alternate	e Quantity Units	(1) K&S SERVIC FLOR		(2) AIRBOAT A	DDICTS, INC.	(3) VISUAL	SCAPE INC.
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(MITIGATION A	REA MAINTENAN	ICE (AC		1		
0015 0580 7 63 LANDSCAPE- SMALL SHRUB, DIST SPECIFIED FROM PROJECT LIST, GALLON		12.00000	1,800.00	20.00000	3,000.00	35.00000	5,250.00
0020 E104 4 3 MOWING (SMALL MACHINE)	130.000 AC	99.00000	12,870.00	250.00000	32,500.00	150.00000	19,500.00
0025 E110 2 CLEARING & GRUBBING	35.000 AC	1,850.00000	64,750.00	1,000.00000	35,000.00	1,800.00000	63,000.00
0030 E110 30 LITTER REMOVAL	139.000 AC	35.00000	4,865.00	80.00000	11,120.00	50.00000	6,950.00
0035 E580 3 2 LANDSCAPE MAINTENANCE (ACR	139.000 E) AC	150.00000	20,850.00	190.00000	26,410.00	400.00000	55,600.00
0040 E580332 20 TREE REMOVAL (LESS THAN 4")	80.000 EA	50.00000	4,000.00	75.00000	6,000.00	100.00000	8,000.00
0045 E580337 3 HERBICIDE (SPOT APPLICATION < SF)	25,000.000 : 100 SF	0.10000	2,500.00	0.60000	15,000.00	0.50000	12,500.00
0050 E580337 4 HERBICIDE (STRIP APPLICATION)(AQUATIC)	325.000 AC	150.00000	48,750.00	130.00000	42,250.00	155.00000	50,375.00



				Tabulation of B	ds			Page 3 of 4
Letting:	08211109	November 09,	2021	Call Order: 002		Contract:	E8T53-R0	
Line No / Iter Item Descrip		te Quantity Units		VICES OF SOUTH ORIDA,	(2) AIRBOAT	ADDICTS, INC.	(3) VISUA	LSCAPE INC.
() indicates iter	m is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0001	(MITIGATION	AREA MAINTEN	NANCE (AC				
	ITIGATION AREA	Section Totals:		\$165,410.00		\$179,655.00		\$235,675.00

Contract Grand Totals:	\$165,410.00	\$179,655.00	235,675.00



			Tabulatio	n of Bids			Page 4 of 4
Letting:	08211109	November 09, 2021	Call Order:	002	Contract:	E8T53-R0	
		120.57(3), Florid required by law	da Statutes, or fa	ilure to post the llowed for filing a	escribed in section bond or other security a bond shall constitute ida Statutes.		